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Part A (10 x 2 =20)

Answer all questions.
1. Define singular integral.
cuerTwm efFfpliys dgrens.
2.  Eliminate a and b from z = (x + a)(y + b).
z= (x+a)(y+b) - @mps a wombd b-n BEEs.
3. Find the complete integral of p* +q* = npq.
p2 +q2 = npq—er (PP DTS SreaTs.
4. Solve : p = y*q*.
865 p=yq’.
5. Find: L(e™).
SIS : L(eiat)‘
6. Find: L(tsinat).
SIS L(t sin at).

7.  Write down the formula for (ﬂj ey -

dy .
e &S TSNS CT(HGIS.
X



10.

11.

12.

13.

Write down the stirling’s formula.
VL BIED FHSHTSMS 6T(LHSIS.
Define Beta function.

SLLT &7 edU cuenyuimy.

Find : m
FHTETS : IE

Part B (5 x5=25)

Answer all questions, choosing either (a) or (b).
(a) Eliminate @ and b from 2z = (ax + y)f +b.
2z = (ax+y) +b - Q@ps a wHmb b-5 BéEs.
Or
(b) Eliminate the arbitrary function f from

f(x2 +y? +2%,2° —2xy): 0.
f(x2 +y2 +2%,2° —ny): 0 —& Bl
Afss Huuripm st 4 [ - B&Es.
(@) Solve: (y+z)p+(2+x)q =x+y.
§ &5 : (y+z)p+(z+x)q =x+y.
Or
(b) Solve: q(p —sin x)= cosy.
8§ &5 q(p—sinx)=cosy.
(a) Find: Lfsin®2¢).
STE0TS L(Sin3 2t)‘
Or

(b) Find:L‘{ 5 }

=y,
snains Ll{(il)z}
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14.

15.

16.

(a)

(b)

(a)

(b)

Find % at x = 900 from the following data.
X

0 300 600 900 1200 1500 1800
135 149 157 183 201 205 193

Qeraumn  edupmsaldmss & =900 —d Z—i—m
ELIL| STeTs.

0 300 600 900 1200 1500 1800

135 149 157 183 201 205 193

Or
From the following data, find y'(b) and the
maximum value of y.
Qeraumd  aluphsalalmbs V' (D)  wHmb  y-an
BUQuEmD Y sras.

Prove that |@ =r.
‘@ =7 aar fpoys.
0)

r
7%
Evaluate : jsin7 6cos’® 6d0.

0

0f19@s [ sin” Ocos® 0d0.
0
Part C (3 x 10 = 30)

Answer any three questions.

Eliminate f and ¢ from z = f(x +ay)+ ¢(x —ay).

z=flx+ay)+dlx—ay) & @ups [ womd ¢ -
LEIGED
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17.

18.

19.

20.

dee:pxb@+z)—qy@
géasz@2+z}1UQ?+z):2@

Find

Find the two derivatives of (x)% at x =50 and x =56
from the table below.

Geeumd <L eauamenrudalmpg X =50 wHmd x = 56—

(x)% Qe cuemsWil®L & STas.

50 51

52 53

54

55

56

3.6840 3.7084 3.7325 3.7563 3.7798 3.8030 3.8259

Prove that : ,B m, n =

Ameys : S(m,n)

[l ()
[(mn)
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